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Section : Part-A-General Intelligence and Reasoning

Q1 Ina certain code language, ‘“YOUNG’ is coded as *25796°, “WOULD" is coded as ‘80532, ‘CANDY" is coded as
‘49163". What can be the code for Y™ in that code language?
Ans X1, 7
X2 2
3. 9
X4 5
Q.2

Ans

x 4

AKX

From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is not allowed)
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Q.3 A s the father of B. B is the brother of C. C is the husband of D. D is the sister of E. E is the mother of F. F is the
daughter of G. How is D related to F?

Ans X' 1. Father
+ 2. Mother’s sister
X 3. Sister
X 4. Mother

Q4 Which letter should be in place of the question mark (?) in the following series?

MG LHKLII?
Ans X1 L

21

X3 K

X4 0

Q.5  Five individuals P, Q, R, S. and T are seated at a circular table facing away from each other. R is to the immediate left of
P. S is in between Q and R. Who is sitting to the immediate left of Q7

Ans }(1_R
x2S
X3 P
4 T

Q.6 Ina certain code language, ‘HOST" is coded as ‘9724, ‘KINDO?’ is coded as ‘45310°, ‘KNOWS’ is coded as *37654°.
What is the code for “W” in that code language?

Ans X 1.5
X2 4
X3 7
406

Q.7 Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third
letter cluster and the second letter cluster is related to the first letter cluster.
PIG : OQHJFH :: KIN : JLHIMO : LED : ?
Ans 1. KMDFCE
X 2. MKFDEC
< 3. ECFDMK
X 4. CEDFKM

Q.8  Which of the following groups of letters when sequentially placed from left to right will complete the given series?

st vwst vwstuv_stuvwstuvwstu_w
Ans L1 UwWuv

o 2. MWV

X 3. uuuv

X 4. wuvu
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Q.9

Arrange the given words in alphabetical order:

1. Response

2. Reporter

3. Reaction

4. Registration

5. Relevant
Ans X 1.25134

X 2.514,2,3

o 3.34,52,1

X 4.45123

Q10 Two different positions of the same dice are given below. Find the letter opposite of s.

Ans W 1. 0
X2 p
X3t
X4 m

QM In the following question, select the missing number from the given series.

5,34, 1,38,-3,7
Ans X140

X2 44

X3 47

4 42

Q12 Four different positions of the same dice are given below. Find the number opposite of 51.

Ans X 1. 83
¥ 2. 55
X3 52
X 4 54
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Q.13

If 60 @ 35 # 15 * 6 = -65 and 40 @ 30 # 6 * 7 = =32, then

N @I10#6*5=2
Ans X170

X 2. 60

X 3. 65

¥4 50

Q14 In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.
(| [EO[E][CHA| »
Ans
X1- @
X2' .
A
x 3.
W

Q15 P Q,R.S, T, UandV are seven friends sitting in a single row facing North. S is to the immediate right of R. T and P are
neighbours of U.Q is to the immediate left of R and on second place from left most end. P is at the right most end. Who
is sitting on the immediate left of S?

Ans 1 R
X2 T
X3 Q
X4 U
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Q16 Select the figure that will replace the question mark (?) in the following figure series.

FEY ?

Ans

o
B8 8] & .

Q17 By Interchanging the given two numbers which of the following equation will be correct?

Sand 9

Ans  X'1.5+9x2-3=18
2. 5-9+-6=10
K3 5-3+0=4
K4 5+3=x2-9=12

Q18 Select the option that is related to the third word in the same way as the second word is related to the first word.

New York : United States :: Sydney : ?
Ans X 1. Japan

X 2. England

« 3. Australia

X 4. Canada

Q19 Which of the following numbers will replace the question mark (?) in the given series?

165,72, 195, 210, 225, 240
Ans 1. 180

X2 185

X3 192

X4 172
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Q.20 1 the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the

conclusions and then decide which of the given conclusion(s) logically follows the given statements.
Statements:

I. All red are green.

II. Some pink are green.

Conclusions:

I. Some pink are not red.

II. All green are red.

III. Some green are red.

Ans X 1. Both conclusions I and II follows

X 2. All conclusion follows
X 3. Neither conclusion follows
+ 4. Only conclusion IIT follows

Section : Part-B-General Knowledge and General awareness

@1 Which late veteran tribal leader of Tripura received the Padma Shri posthumously in 20237
Ans X 1. Sindhu Chandra Jamatia

X 2. Bhaba Ranjan Reang

X 3. Araber Rahaman
" 4 Narendra Chandra Debbarma

Q2 11 which of the following vears, NABARD sanctions Action Research Project to MYRADA?

Ans X 1. 1981
« 2. 1987
X 3. 1985
X 4. 1983

@3 Which country hosted the FIFA U-17 Women’s World Cup 2022?

Ans X 1. Nigeria

X 2. Germany

« 3. India

X 4. Spain
Q4 Which of the following is the reason for unemployment?
Ans

X 1. Good education system
« 2. Large migration to a particular area
X 3. Slow population growth

X 4. Fast economic growth
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Q.5

In Himachal Pradesh, which of the following is a floral festival?
Ans X 1. Baisakhi festival

X 2. Doongri festival

X 3. Chaitraul festival

+ 4. Phulaich festival

Q6 Orunodoi 2.0 is launched by which of the following states?

Ans X 1. Tharkhand
X 2. Rajasthan
X 3. Manipur

o 4 Assam

Q7 Who is often referred to as the "Mother of Modern Bharatanatyam"?

Ans X 1. Mallika Sarabhai
+ 2. Rukmini Devi Arundale
X 3. Sanjukta Panigrahi
X 4. Mrinalini Sarabhai

Q.8  What was the primary purpose of the "Intensive Agricultural District Program (IADP)" launched during the Green

Revolution in India?

Ans X 1. Implementing land reforms
X 2. Promoting organic farming
+ 3. Increasing agricultural productivity in specific districts
X 4. Boosting the cultivation of cash crops

Q9 Article 126 of the Indian Constitution mentions

Ans

« 1. Appointment of acting Chief Justice of India
X 2. Supreme Court to be a court of record

X 3. Seat of Supreme Court

X 4. Appointment of ad hoc Judges

Q19 Which of the following sports is played by Dipika Pallikal Karthik?
Ans X' 1. Cricket

« 2. Squash

X 3. Boxing

X 4. Table Tennis
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QM1 Who of the following was one of the stalwarts of a renaissance in Koodivattam?
Ans X 1. Makar Dhwaja Darogha

X 2. PK Kunju Kurup

2 3. Amubi Singh

v 4 Ammannur Madhava Chakyar

Q12 Which of the following is the SI unit of temperature?
Ans 1. Kelvin (K)

X 2. Pascal (Pa)

X 3. Fahrenheit (F)

X 4. Celsius (°C)

Q13 According to the 2011 Census of India, at all India level, the adult (15 + years) literacy rate is
Ans  X'1. 65.3 percent

2 2. 73.3 percent

« 3. 69.3 percent

X 4. 63.3 percent

Q14 Ustad Zakir Hussain plays

Ans 1. Tabla
X 2. Sitar
X 3. Guitar
X 4. Santoor

Q15 Who has been conferred with the Grand Cross of the Order of Honour by the President of Greece in August 2023?
Ans X 1. Piyush Goyal

+ 2. Narendra Modi

X 3. Jagdeep Dhankhar

X 4. Om Birla

Q.16 Proposed by Lord Lytton, then viceroy of India (governed 1876—80), the act was intended to prevent the vernacular
press from expressing criticism of British policies—notably, the opposition that had grown with the outset of the Second
(1878-80).

Ans 1. Anglo-Afghan War
X 2. Portuguese-Afghan War
X 3. Anglo-Mysore War
X 4. Anglo-French War
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Q17 The wrestler must be at least vears old, and must be sponsored by the national federation, to compete at the

World Championships or Olympic Games.
Ans X' 1. 25
X2 21
3 17
X4 23

Q18 Complete the sentence. "Most of Ashoka’s inscriptions

Ans 1 were in Prakrit and were written in the Brahmi script
X 2. were in Brahmi and were written in the Prakrit script
X 3. were in Sanskrit and were written in the Brahmi script

X 4. were in Prakrit and were written in the Devnagri script

Q19 As of May 2022, which of the following is NOT a part of Article 19 of the Indian Constitution?
Ans X 1. To assemble peaceably and without arms

« 2. Right to Property
X 3. To move freely throughout the territory of India

X 4. To form associations or unions

Q20 yWhich of the following is example of White Goods?
Ans 1 Air Conditioners and LED Lights

X 2. Pharmacy products

X 3. Imported items

X 4. Agricultural equipment

Section : Part-C-Elementary Mathematics

Q1 D alone can complete half of a work in 100 days. In 47 days what percentage of the work will be completed by D?

Ans  p 1. 23.5 percent
2 2. 20.5 percent
X 3. 21 percent

X 4. 26.5 percent

Q.2 The difference between compound interest (compounding annually) and simple interest on a sum of Rs. 10,00,000 for 2

vears is Rs. 2401. Find the rate of interest per annum.

Ans @1 4.9%
X2 6.1%
X 3. 5.0%
X4 5.2%
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Q3 By selling a cup for Rs. 1792 a man earns a profit of 12 percent. If he sells it for Rs. 1472, then what will

be the loss percent?

Ans 1. 8 percent
X 2. 12 percent
X 3. 15 percent
X 4. 6 percent

Q4 YWhat is the value of 8500 + 5 + 24 x 6 — 122 x 3?
Ans X1 1214

X2 1178

X 3. 1532

o 4 1478

Q.5  The ratio of the present age of the two brothers is 11 : 13 and 6 years ago the ratio of their ages was 4 : 5. What will be

the ratio of their ages after 5 years?
Ans  X'1. 22:29

X2 3]1:34

« 3. 27: 31

X4.17:19

Q.6 The average marks of 17 students was 180. But later it was found that the score of one student was wrongly entered as

72 instead of 27. What is the correct average of their score?
Ans X' 1. 183.36
X 2. 178.98
« 3. 177.35
X 4. 180.25

Q7 If p percent of p is 729, then what is the value of p?
Ans 1. 270

<2170

X 3330

X 4230

Q8 parallel sides of a trapezium are 15 cm and 16 cm and its area is 961 cm?. What is the distance between parallel sides?

Ans X1 155 cm
<2 93cm
X3 3lcm
« 4 62 cm

Q9 The average of 5 consecutive numbers is 19. Find the largest of these numbers.
Ans X 1. 73

X2 29

3 21

x4 17
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Q10 A man buys 15 mangoes for a rupee. How many mangoes had he sold for a rupee so that there is a loss of 25 percent?
Ans X 1. |7

¥ 2. 20

X 3. 38

X4 28

QM IfG:H=3:7, then what is the value of G : (G +~ H)?
Ans X1 10:3

X26:7

3 3:10

X4.3:7

Q12 The simple interest received on a sum is 81/100 of the sum. The number of years is equal to the annual rate of interest.
What is the annual rate of interest?

Ans X' 1. 12.5 percent
2 2. 10.5 percent
« 3. 9 percent
X 4. 11 percent

Q13 Amit is thrice as good a workman as Vinit and therefore is able to finish a work in 32 days less than Vinit. In how many
days can they together complete the same work?

Ans X 1. 24 days
X 2. 48 days
« 3. 12 days
X 4. 36 days

Q.14 Manav starts from a place A and reaches the place B in 29 hours. He travels 2/9 distance at the speed of 9 kmv/hr and the
remaining distance at the speed of 12 km/hr. What is the distance between A and B?

Ans X 1. 264 km
2. 324 km
X 3. 376 km
X 4. 208 km

Q15 A shirt is marked at 21200, and a discount of 15% is offered. Find the selling price of this shirt.

Ans X' 1. Rs. 1290
< 2. Rs. 1200
+ 3 Rs. 1020
X 4 Rs. 1270

Q16 WWhat is the value of 22 + (9 — 1 + 7 x 2) + 24 of 92
Ans X' 1. 215

X2 216

&3 217

X4 218
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Q17 YWhat is the value of 897 + 13 + 15 x 15 -27?
Ans X 1. 275

X2 272

X3 271

4 267

Q.18  Instead of increasing a number successively by 40 percent and 60 percent, it is decreased by 44 percent. Resultant value
is what percentage of the required correct value?

Ans X1 20 percent
X 2. 50 percent
« 3. 25 percent

X 4. 28 percent

Q.19 On Selling a watch at 3/10 of the marked price there is a loss of 16 percent. What will be the ratio of the marked price
and cost price of the watch?

Ans X1 7:4
X28:5
3 14:5
X419:8

Q20 yWhat is the value of 100 * 10 — 100 + 3000 + (100 x 10)?

Ans  K1. 970
X 21003
¥ 3 903
X 4. 1030
| Q1 Select the incorrectly spelt word from the iven setence. |

Select the incorrectly spelt word from the given sentence.

Kids who weren’t restrained at all definitly suffered the consequences.
Ans 1. definitly

& 2. restrained

2 3. suffered
X 4. consequences

Q2 gelect the sentence with no spelling errors.

Ans 1.
Ifememher that intrnational travellers have to now get tested and quarantine after they land in the country.

X 2.
Remember that international travellers have to now get tested and quarentine after they land in the country.

3
Remember that international travellers have to now get tested and quarantine after they land in the country.

x 4.

Remember that international travellers have to now get tested and quarantine after they land in the contry.
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Q3 Select the most appropriate antonym of the given word.

Intricate
Ans X 1. Harmony

« 2. Simple
X 3. Blocked
X 4. Complex

Q4 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Sneha worked really harder for this event, but unfortunately it got cancelled.
Ans X 1. for this event, but

X 2. No error

« 3. Sneha worked really harder

X 4. unfortunately it got cancelled

Q5  Choose the most appropriate antonym of the underlined word

As children, I think things can be around you, but you really just retain the information that feels pertinent or important

to you.
Ans X 1. Related
< 2. Apt
« 3. Tirelevant
X 4. Proper

Q.6 select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence

meaningfully. Select the option 'no correction required’ if the sentence is correct as given.

An hour later, a dog began to how! somewhere (in a farmhouse far down) the road.
Ans 1. No correction required

# 2. inside a farmhouse far downwards

X 3. at farmhouse far up

X 4. into a farmhouse far down

Q7 Select the most appropriate word to fill in the blank.

I have already paid him more than
Ans X 1. complete
« 2. enough

X 3. halves
< 4 full
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Q8  Replace the bracketed word with one of the given options, which suitably replaces the word without changing the

meaning of the sentence:

There are several ways to (mitigate) a blowout without losing control or playing soft.
Ans X 1. spread
v 2. allay
X 3. aggravate

X 4. intensify

Q.9  In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.

To mount the throne

Ans X 1. To bring disgrace to the family
2 2. To take the responsibility
+ 3. To become king, queen etc.
X 4. To leave one’s palace

Q.10

Choose the idiom/phrase that can substitute the highlighted group of words meaningfully:.

Your action has caused a lot of trouble and now everyone has to face the repercussions.

Ans X' 1. In the dark
X 2. In seventh heaven
+ 3. Stir a hornet's nest
X 4. Break a leg

QM Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The study has find an increasing correlation between social media usage and feelings of loneliness.
Ans X 1. No error

+ 2. The study has find an increasing

X 3. usage and feelings of loneliness.

# 4. correlation between social media

Q12 Replace the bracketed word with one of the given options, which suitably replaces the word without changing the
meaning of the sentence:

The (famous) scientist made groundbreaking discoveries in the field of physics.
Ans X' 1. npotorious
+ 2. renowned
X 3. infamous

< 4. unknown
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Q13 Choose the word that is opposite in meaning to the given word.
Cunning
Ans 1. Simple
X 2. Oblique
X 3. Stealthy
X 4. Guileful
Q.14

Choose the most appropriate synonym of the underlined word.

Only a rounded bar and three rotting bathtubs remain in the decrepit club.
Ans X 1. Robust

X 2. Luxurious
X 3. Hearty
« 4 Wrecked

Q15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

He tried not to care and keeping marching forward.
Ans X 1. He tried not

« 2. keeping marching forward.

/< 3. No error

# 4. to care and

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

In the age of information technology, the internet has become an indispensable (1. boon) in our daily lives. It
offers a vast (2. stores) of knowledge and a platform for global (3. transmissions) and connectivity.
However, this digital revolution also raises concerns about online (4. safety) and privacy. It is essential for
users to be (5. alert) about their online activities and take steps to protect their personal information in this
digital age.

SubQuestion No : 16
@16 Fill in the blank (1) with the appropriate word from the options below:
Ans 1. asset

< 2. barrier

X 3. threat

X 4. luxury
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Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

In the age of information technology, the internet has become an indispensable (1. boon)

in our daily lives. It
offers a vast (2. stores)

of knowledge and a platform for global (3. transmissions)
However, this digital revolution also raises concerns about online (4. safety)
users to be (5. alert)

digital age.

and connectivity.

and privacy. It is essential for
about their online activities and take steps to protect their personal information in this

SubQuestion No : 17

Q17 Fill in the blank (2) with the appropriate word from the options below:

Ans X 1. factory
X 2. mandatory
« 3. repository

X 4. laboratory

Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

In the age of information technology, the internet has become an indispensable (1. boon)

in our daily lives. It
offers a vast (2. stores)

of knowledge and a platform for global (3. transmissions)
However, this digital revolution also raises concerns about online (4. safety)
users to be (5. alert)

and connectivity.

and privacy. It is essential for
about their online activities and take steps to protect their personal information in this

digital age.

SubQuestion No : 18
Q18 Fill in the blank (3) with the appropriate word from the options below:
Ans

Z 1. contour
& 2. concord
X 3. conundrum

4 communication
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Comprehension:

In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.

In the age of information technology, the internet has become an indispensable (1. boon) in our daily lives. It
offers a vast (2. stores) of knowledge and a platform for global (3. transmissions) and connectivity.
However, this digital revolution also raises concerns about online (4. safety) and privacy. It is essential for

users to be (5. alert) about their online activities and take steps to protect their personal information in this
digital age.

SubQuestion No : 19

Q19 Fill in the blank (4) with the appropriate word from the options below:
Ans X 1. insecurity
X 2. vigilance
< 3. incursion
« 4. security
Comprehension:
In the given passage, four options are given for each blank. Select the most appropriate option to complete the given
passage, which also fits contextually as per the word given in the bracket.
In the age of information technology, the internet has become an indispensable (1. boon) in our daily lives. It
offers a vast (2. stores) of knowledge and a platform for global (3. transmissions) and connectivity.
However, this digital revolution also raises concerns about online (4. safety) and privacy. It is essential for
users to be (5. alert) about their online activities and take steps to protect their personal information in this
digital age.
SubQuestion No : 20
Q.20

Fill in the blank (5) with the appropriate word from the options below:
Ans 1 wary

X 2. absurd
X< 3. abscure

X 4. oblivious

U fv T T F ISR e FT B e 79 £

AEl =fFT Fr 3w o Fed 2
x 1. 318l

X2 TRAGR

X3 TR

4 rE

Ans
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Q2 R ged &, Ry 70 9R fwedt & ¥, 37 e #1 w9 #{ o Re v geey F @5 A
TE4SS &9 U =ad HLaT &

HET 3T
v . FEETF S FgaAT
X 2. FeaT ST &A1

X3 QU A TG HEAT

X4 ATS-ATS T4

Ans

Q3 frgfafed ag #, 39 9501 ST UgAIe fod amel § e oyfedt B ofe S mad R e @ B I
1 & I 1a ey
o HAR 9 YITSd ARl & Sfia S/ Ja-1e dmIRal 8 @ R [urad] aid Siia- i/ S & (018 Hicie
frear g |

X o & T vicare faaar @
X 2. AR SHTRA! Y WS AR UraT] ard SiaH &l

X 3 Ygd R 4 UIfSd ARl $i oilad &l
v DS IR 8
* few T g # E s A W, S R P

FeT JAHT Tgd AT gFATH g3 3 3¢ TERR o &=

Ans

xmwsﬂﬁm

X 2. ol 3eTehl Fgd

X3 3T 3¢
@4_sq1frqqm?r§3rr

O3 RrafafEE e &, 9% Rwedt F ¥, 37 Reew &1 907 FY 3 Fves F By ow g ¥ vatwarh
eE T TET TaeT 74T £ |
T W H (@A) F FE-EE gar I B

Ans o1 Eﬂﬁ
A 2. IGTET

X 3. ZAqrET

X 4 IraTTeT
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Q6 Dyyfefad vy & OR el § A, 39 [dbed &1 98 B ol HIFs H 30 0 g & 08 Y &1 Uel [dbed ¢ |
T 3R WY UaR & ANl A e w6 7 24191 Id S (3R 3|

v R
X2 ifecar

X3 SRR
X 4 3D

QA7 AT T &, 9% et F ¥, 37 TFeT FT 9Ua ST S Frvew H BT 9T o F T9 §9T F
Ter BT
AT § T F ATE H TF (FEo) TET HT 4T

gl
Ans
X 1. oo

v o FOHT

=

X3 frars
X4 I

Y fFgfafad areg & T@ifed 4 T v e Tee 31 i)

TGS d B 99 91 offal § 9 61 U ¢ |

Ans “?1'1%'—2-@
X 2. JHIRR
X3 TR
X 4 VTR

QA0 AT g &, 9% Beea F ¥, 3T BFeT FT 97 FI S Freew F BT AT o%g F gHTEnh
9Teg, T Tar faseT Tar & |
FH FHUT (FEAT) __ Tged o @RN F G AT & @A AR

Ans X1 %G‘IT-T

X2 TG
X 3. 9raT
@4.3“?%’
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